
Upper unit   
PCSTU-S23   

PCTL-S23 to be horizontally 
installed on the lower unit      

Chute bracket
PSBL30    

Connecting shaft   

PCT－S23 

①

②

Catalog No.

PCT-S23

Upper unit 
PCSTU-S23 

PCSL-S23 to be vertically
installed on the lower unit

Chute bracket
PSBL30    

Connecting bolt
(Connecting shaft)  

Part name   Accessory  
Catalog No. Base unit 

priceType

Vertical installation type Set 
of upper and lower units
（①,②, and ③）

One spring washer （for M10）
One hexagon socket head cap bolt （M10－50）
Two plain washers （for M8）
Two spring washers （for M8）
Two hexagon socket head cap bolt （M8－18）

PCS-S23

Vertical installation type 
Upper unit （②）

One spring washer （for M10）
One hexagon socket head cap bolt （M10－50）

PCSTU-S23

Vertical installation type 
Lower unit（①）

Two plain washers （for M8）
Two spring washers （for M8）
Two hexagon socket head cap bolt （M8－18）

PCSL-S23

Chute bracket （③） － PSBL30

Catalog No.

PCS-S23

PCS－S23 

■Standard installation diagram ■Standard installation diagram

ETwo chute brackets （③）are included in a set sales. PSBL30 （chute bracket （③））sales per piece. ETwo chute brackets （③）are included in a set sales. PSBL30 （chute bracket （③））sales per piece.

Horizontal installation type 
（ST＝23）

③ ③

①

②

Part name   Accessory  
Catalog No. Base unit 

priceType

Horizontal installation type 
Set of upper and lower units
（①,②, and ③）

One spring washer （for M10）
One hexagon socket head cap bolt （M10－50）
Two plain washers （for M10）
Two spring washers （for M10）
Two hexagon socket head cap bolt （M10－45）

PCT-S23

Horizontal installation type 
Upper unit （②）

One spring washer （for M10）
One hexagon socket head cap bolt （M10－50）

PCSTU-S23

Horizontal installation type 
Lower unit（①）

Two spring washers （for M8）
Two hexagon socket head cap bolt （M10－45）

PCTL-S23

Chute bracket （③） － PSBL30

Vertical installation type 
（ST＝23）

35

F12 
shaft hole

1515
15

24
10

2

73
832-F6

Dowel pin   

56

46

Presser pin   

Swing bracket 

F10.5
(M10 Bolt hole)

57

30

60
64

23

80

Inner 

Urethane Collar   

Outer   

56
76

30

2-12×9
(M8 Bolt hole)

Installation bracket  

Die holder
Lower surface reference 

3-F6.5

70

124

40

30

40

2010

Assembly reference surface   

Standard assembly dimensions 
(Bottom dead center) 130 mm ± 3 mm   

Coupling shaft*

Chute bracket [PSBL30]

Recommended angle 
is 5° or more   

Chute*  

S
Scrap   

S

S

Collar to protect the chute*   

Installation plate for the upper unit*

Assembly 
reference surface   

Die holder 
Lower surface reference

Upper unit [PCSTU-S23]

[PCSL-S23] to be vertically installed on the 
lower unit   

Installation plate for the lower unit*  

Bottom die set plate   

Top die set plate   

Die holder   

Punch holder   

Installation structure  

A rod can be used to support the chute; however, it is recommended that you 
use a rotating part such as collar to reduce of wear.  

   * To be arranged by user

Example Example

Order OrderDays to Ship Days to Ship

35

F12
shaft hole

15
15

24
10

2

73
83122-F6

Dowel pin   

56

46

Presser pin   

Swing bracket 

F10.5
(M10 Bolt hole) 

30 68

25
45

34

81210

122

F10.2 Drill hole   
(M10 Bolt hole) 

F6 Dowel pin

Installation bracket   

Inner

Urethane Collar

Outer    

Die holder 
Lower surface reference

35

23

3-F6.5

70

124

40

1530

40

2010

Assembly reference surface 

 8 
 12 

 10 

 12 Standard assembly dimensions
(Bottom dead center) 
115 mm ± 3 mm   

Coupling shaft*

Chute bracket [PSBL30] 

Recommended angle
is 5° or more  

Chute* 

S
S

S

Collar to protect the chute* 

Installation plate for the upper unit*   

[PCTL-S23] to be horizontally 
installed on the lower unit  

Upper unit [PCSTU-S23]   
Top die set plate

Punch holder

Die holder 

Bottom die set plate

Die holder 
Lower surface reference  

Assembly reference 
surface

Installation structure  

Scrap 

A rod can be used to support the chute; however, it is recommended that you 
use a rotating part such as collar to reduce of wear.   

     * To be arranged by user

391 392

BU
TT

ON
 D

IE
S

PRODUCTS DATA

     P.393

PRODUCTS DATA

    P.393

PICSY

SCRAP DISCHARGER
VERTICAL INSTALLATION TYPE (ST = 23)   

PICSY

SCRAP DISCHARGER
HORIZONTAL INSTALLATION TYPE (ST = 23)   


